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Note : Answer all questions. 

	

1. 	(a) Explain the term "Altered level of 
consciousness" 	 1+5+9=15 

(b) Discuss the continuum of consciousness 

(c) Describe the nursing management of an 
unconscious patient 

	

2. 	(a) List the risk factors associated with 
incidence of coronary artery disease (CAD) 

3+3+9=15 
(b) Explain the chemical manifestations of a 

patient with myocardial infarction. 

(c) Describe the medical and nursing 
management of a patient with myocardial 
Infarction. 
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3. 	(a) Enumerate the causes of Intestinal 
obstruction. 	 3+3+2+7=15 

(b) Discuss the pathophysiology of Intestinal 
obstruction. 

(c) List the signs and symptoms of Intestinal 
obstruction. 

(d) Describe Pre - operative and Post - operative 
nursing management of a patient 
undergoing bowel surgery. 

4. Write briefly nursing management in any three 
of the following : 	 3x5=15 

(a) Chest tube drainage 

(b) Fluid imbalance 

(c) Haemorrhage 

(d) Chocking 

(e) Endoscopic examination of upper gastro 
intestinal tract. 

	

5. 	Fill in the blanks : 	 5x1=5 

(a) The diseases that occur as a result of immune 
response against self antigen are termed as 
	 diseases. 

(b) When a patient pushes a button of a infusion 
pump filled will opioids to release a set 
amount of opioids by bolus it is known as 
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(c) Diabetes insipidus is caused due to the 
deficiency of 	 

(d) The drug used in the diagnosis of myasthenia 
gravis is 	 

(e) The benign neoplasm of smooth muscle is 

6. 	Write 'T' if the statement is true and 'F' if it is 
false in your answer sheet : 	 5x1=5 

(a) Technical experts are required for keeping 
community plan for preparedness to meet 
emergencies 

(b) Audible inspiratory and expiratory 
wheezing is a feature of acute asthmatic 
attack. 

(c) Anaemia in chronic renal failure is due to 
deficiency of erythropoietin 

(d) Allergens are proteins capable of inducing 
1 gE antibody 

(e) Hyperthyroidism leads to increased fertility 
in women. 
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